A £ 0l & AF & S

Al A

RARIS = algeaiy
B ALZMNY 4
tel: M 2 MENS |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
H=ag ot 15,309,945 9,516,313 5,793,632
Jl 1,221,506
== 2,118,697
Al 11,969,742
AR XY FY 15,205,822 9,410,601 5,795,221
Jl 1,221,506
== 2,118,697
Al 11,865,619
dz & dEMs =4 4,125,957 3,839,521 286,436
M=K 12,840 14,480 21,640
201 er23 | 7,600 6,000 1,600
01 At2teltl 7,600 6,000 1,600
OMsds8sl 22 +=¢
100,000 x 102 #2353 2,000
OHM=el QIAZS &t 222 A & Us
1,000,000& *22] 2,000
Odgr=sua 280 HE 2= M
180,000& x 109 2+22] 3,600
202 04l 3,240 6.480 A3,240
01 =LHA LI 3,240 6,480 A3,240
O=2EME sd&sH 2L, 2
60,0002 x4 & *62| 1,440
OHM= ZHAX 212 & MOILE &4 048]
60,0002 x3& »23] 360
O2E thal HzIX d&X| At
60,0003 #4 & +63] 1,440
203 g2l 2,000 2,000
03 A= LR F&IH| 2,000 2,000
O%& MElz & AsAd 22 =
2,000,000& %14 2,000
=dAM=2 HEXH 829,857 771,649 58,208
307 212+01™ 824,857 766,649 58,208
02 LB HANHEE 414,000 402,000 12,000
O20258 === Z&t|
65,000,000 *13] 65,000
OHMIoe=l &=M=U= &8
16,000,000& *13] 16,000
OHNMal d=a2EHEUH £
8,000,000& 12 8,000
ONiedzsl Metd=rd=Uz &
210,000,000& %12 210,000
OHM43| 4HAIZ (K2, =3, 2, 7o) L2
Susd £ 10,000,000& * 13l 10,000
Ogaictedsa O A2 HEMS wRial
Eg 10,000,000& *13] 10,000




RARIS = algeaiy
Hu: A=A B4
tel: M 2 MENS |4 (SH9 H2)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
ORMI37el Hete-dEMsSUES £
75,000,000 *14] 75,000
ONM203 MetgoHSMMENIUE =
20,000,000& *12] 20,000
03 LM EE2SHIEX 327,857 284,649 43,208
O=HAMF2 AR=H AAHIOISHEX
) 48,571,000&*13] 48,571
O=dAIM=F2l 21248|
215,878,000& x13] 215,878
O=&AId=2 28l
63,408,000 *13] 63,408
04 QIZHHAIAIH E X 83,000 80,000 3,000
O=d&Al "=l &
20,000,000 13l 20,000
ON212l =&Al dEHSUH=A
63,000,000& 12 63,000
402 2IZtA=01A 5,000 5,000
01 QI XHE AL E R (K THE) 5,000 5,000
O=dAl(Zu)M=al 25 7L
5,000,000& *14] 5,000
=HAIZMH=E HEXZ 316,969 290,961 26,008
307 glztol & 316,969 290,961 26,008
02 LB AL E 150,000 121,000 29,000
02025 Z0HeIXs 26+ 28]
10,000,000& * 13l 10,000
ORMI453| d=FHMSH =&
5,000,000& *12 5,000
ORNI33el Hetd=HMAMZUH EH
100,000,000 12| 100,000
02025 Hete =g = 2
25,000,000& *13] 25,000
02025 3 Al(=H, 0=, 2) MK
FSusd 2 10,000,000& x12] 10,000
03 LM EHE2SHIEX 137,969 124,961 13,008
O=HAZHMAUM S AAR=2E UAHIOIS
AEXIH) 61,364,000& 13l 61,364
O=dAlZ0eIM=2l olAt|
56,605,000& *13] 56,605
O=dAlZeMsa 24|
20,000,000 13l 20,000
04 QIZHHAIAIRH E X 29,000 45,000 A16,000
O2025 HOoHI M=l &
12,000,000 *13] 12,000
ONl4al =&AL S22
17,000,000 *12] 17,000
-3 -4 guMs XA 200,000 230,000 30,000
308 AtAIEHMSOIE 200,000 230,000 30,000




EA: MSALS D
B ALZMNY 4
el X2 U MBS S4 (cHol: 22)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
08 WFRI|IZHCHSIE X 200,000 230,000 30,000
OstNS=sE &dH| & 2450 K& 170,000
-6 2 XX XK
150,000,000 * 14! 150,000
-5 K& 20,000,000 x 14! 20,000
Os7na 24| 30,000,000 14! 30,000
AN2SEIIE 24 2,746,291 2,417,431 328,860
301 LEtEAZ 2,731,291 2,412,931 318,360
R o=H - 2SESEAS 2,731,291 2,412,931 318,360
OATEHILIARE 29| 1,117,172
=JI22-a3Hl 119,989
o= 5,427 100312 x 128 65,126
X 4,571,9003 1+ 128 54,863
—J|22-H9EH 362,500
= 4,416,660& 28 x 128 106,000
RA e 3,750,000& 2 x 128 90,000
A e 3,500,000& 1 x 128 42,000
A e 4,583,330@*x 1~ 128 55,000
A 3,583,330& 12 x 128 43,000
- ASIHAH 441, 6603 x5 * 12& 26,500
A2 19,999
2= 5,427, 10031 *x2& 10,855
X 4,571,900 1222 9,144
—IEH 100,000& 1128 1,200
—HRALIIB(LS)
130,000& *1H x 128 1,560
—HI2LEIN2(2X)
60,0003 x1H*12& 720
e = 5,820
4= 275,000& x 1+ 12& 3,300
DX 210,000& x1¥~12& 2,520
—SgE 200,000 x10Y x12& 24,000
o (=Ll 200,000 %22 * 122 4,800
Pl
300,000& x2H »12& 7,200
—KNEXE=E 6,000
2= 300,000& *x1&H 128 3,600
X 200,000& x 1~ 12& 2,400
—=2IHHESS 300,000& x2H *12& 7,200
—HE== 200,000& x6H » 12& 14,400
—HESIH| 12,000
2= 5,427, 1002 x60%* 1«22 6,513
X 4,571,900 +60%* 1 & ~2& 5,487




A MSASL
M AEXMNY 84
el X2 U MBS S4 (2ol &e
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—&=lz 243
500, 0002 62 * 102 30,000
—=NHa 243 7,000,000 *1&H 7,000
—gEgdd=s 10,0002 %108 408 4,000
—EX=3 273,584
=ENS 248,396, 7003+ 1Y 248,397
=1 &S 12,567,010& 1 12,568
Hap €xa 12,618, 46021 +124 2,619
—SHOH-E203
9,000,000& * 102 90,000
—EH0HI-= MU=
5,000,000& 22 10,000
—EM0U-dXEE & HetEd
9.000,00021+45 3,000
—2=0s 28 24
9,000 24! x10E ~40! 7,200
— U=yl 11,000,000 %22 22,000
—dl|lgs g 50,000,000& *12] 50,000
Ogd=% 24| 495,558
—Jl=2=a-22AH 64,690
o= 5,390,800 «1H« 122 64,690
—J|=23-o=H 213,680
JEpS 5,416,66021* 12+ 122 65,000
RFURS 4,166,66021+12* 122 50,000
RS 3,750,002+ 1%+ 122 45,000
S 3,333,330« 1H+ 122 40,000
- ASIHAHR 380,000 <32+ 122 13,680
—do=s-d2+¢ 10,782
a= 5,390,800 x1&+2& 10,782
—JtE2g 40,0002 x1&* 122 480
—d2sgitits 1,560
= 130,000 x1&* 122 1,560
—A=2xY| 3,300
o= 275,000 x1E~ 128 3,300
—ggxd 200,000 x5+ 123 12,000
—Hl= ety 200,000 «1H*12& 2,400
—dJ|ggd=E
300,000« 1H* 122 3,600
—NE=Xt=& 300,000 x1H« 122 3,600
—=JlE=E 300,000& «2H*12& 7,200
—HEE 200,000& «2H*12& 4,800
—HE3JH 6,469
o= 5,390, 800 60+ 1 H#2E 6.469




2A: MAH
M AEXMNY 84
ol 2 A HEHE |4 (S &S
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
—&=203 ZAS
500,000& x2ZH * 102l 10,000
—2HUE Za2 7,000,000 13 7,000
—Ha &= 10,000& x5 x60 & 3,000
—H=EAZ2 8,126,570 %14 8,127
~EHO0IHI-H 203
6,000,000& 83| 48,000
—EH0iHI-2 T3
10,000,000 13| 10,000
—=SMUH-&XEH L A=A
5,000,000& *23] 10,000
—2E0s 2 A
9, 000 #2A1 x5 %143 12,870
—1|=H| 10,000,000 *23| 20,000
-3 IE85 7Y 32,000,000&*13] 32,000
OREE 24| 683,601
—Jl=23-a=2A
5,390,800& x1H*12& 64,690
—J|223-H9SH 372,000
&= 5,500,000& 1 x 128 66,000
A e 5,000,000& 2= x12& 120,000
e 4,166,660 x2H x 128 100,000
= 4,666,660 x1H*12& 56,000
« HASIHAH 500,000& x5+ 12& 30,000
—A02-d25
5,390,800& *1H x2& 10,782
—IIEx=4 40,000 * 1= 12& 480
et = g =3 A =3
130,000& 1 x 128 1,560
— X 22 x| 275,000& x 1~ 12& 3,300
—SgE 200,000 x7&H x12& 16,800
— X = | 200,000& x1H*12& 2,400
—dl|ggkaleG
300,000& x1¥~12& 3,600
—NEX=E 300,000& x 1~ 12& 3,600
—=2JlEE 300,000& x2H 12 7,200
L= = 350,000& x2H * 12& 8,400
—gHESIH|
5,390, 800& *60%+* 1 x2& 6,469
—NZ2U3 EAS
1,000,000& *6H 53] 30,000
—=2MUE ZAS
3,000,000& x2H 18 6,000
—HAZEAZ 10,000 *3H *100& 3,000
—SMAH-M=203]
5,200,000 %103] 52,000




RARIS = algeaiy
M AEXMNY 84
ol 2 A HEHE |4 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= E
10,000, 000& *32] 30,000
~SHOY-ENEY L LsiE
9,000,000 *32] 27,000
—2tEmE 2 A
9,000& x24!x5EH x48L 4,320
— 1= 10,000,002 +23] 20,000
~FJ188 7Y 10,000,002 +13] 10,000
ONFESHIIR &4 ey 2 22
= 800,000 x30H 2x* 123 28,800
ONFesHIIR B3l 8,000
—ATEFLIA 2,000,0002!+ 1] 2,000
-2 3,000,0002!%13] 3,000
-8 3,000,0002%18] 3,000
ORZSSHIIR A7 L WHE H2 H
= 190,000
—ATEHLIA 10,000, 000& »2H 20,000
—g= 30,000,000 1 30,000
== 50,000, 000& x2H 100,000
=& 20,000,000& 2 40,000
Osied Jg A=
1,500 *3602 | E +4 & 2,160
ONFLSSAIIL 428 223
11,000,0002 x 12& 132,000
OXYESEIIT A L RHHI-30
1,500,000 3CH* 122 54,000
ORCR =2 Xyl
20,000,000 *1IH 2 20,000
405 Attt = 15,000 4,500 10,500
01 ML ESFSHI 15,000 4,500 10,500
OMEESBIIR 88 23 78 15,000
—SYSAEE S 5,000,000& *32 15,000
MEHSRNASIMY(OHEEX) 20,000 20,000 0
307 212+01& 20,000 20,000
02 2B HAHE L 20,000 20,000
Ooiesol densusd 29
20,000,000& *13] 20,000
ARX0HAE 198,392 160,992 37,400
AEX0PNE 33,520 26,120 7,400
201 eer23| 30,000 22,600 7,400
01 AtR2t2|HI 30,000 22,600 7,400
OXIH? MSHA HE 2 X=
300, 000& »202] 6,000
OX=H? MIHA Hx 2H 222 WA
2,800& 1,000 53] 14,000




2A:

Mo ARZNY K4
Ehelr AXX0PE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Od=teial & X Nzl 2 D8
= M 10,0002 *1,0007H 10,000
202 04dl 2,520 2,520
01 2L AL 2,520 2,520
OARE=0PIE YAt 219 & #IX|0H
60,0003 3 +73] 1,260
O&Xled & HXI0H
60,0003 3 +73] 1,260
203 HR=H] 1,000 1,000
03 A=A FAIH| 1,000 1,000
OAZEIPIY BH3E 93 Y2 XX
1,000,0002 %14 1,000
dXgds =i & XN 14,872 14,872 0
201 fet=3| 9,872 9,872
01 At 22|l 9,000 9,000
O&Xled8 |l 2tUHE M=
3,000& +1,000% 3,000
OHXEY Y2Y MSAL 2R X
20,0002 x60 2 *50H & 6,000
02 S3=gl 872 872 0
OdXled | 234 &5
2, 1803 »4000H A 872
307 212+01™ 5,000 5,000
02 LB HAHEE 5,000 5,000
OdXlzd |Xl 5,000,000& 12 5,000
ATZXZY SHAS(ZHEEXE) 150,000 120,000 30,000
307 lztol & 150,000 120,000 30,000
02 2B YA HE X 150,000 120,000 30,000
Oz=dAZx=g 2kt K&
30,000,000 x 14 30,000
O=&FC U-15 XI& 90,000,000 *14! 90,000
O=&FC U-18 X 30,000,000 *14! 30,000
=M. =2 HFLA 1,082,000 972,000 110,000
= 90,000
Al 992,000
=N - E=EHA MSHA XA 507,000 487,000 20,000
= 40,000
Al 467,000
307 el2to| & 507,000 487,000 20,000
= 40,000
Al 467,000
04 QIZHHAMAIH 2 £ 507,000 487,000 20,000
OMMNel =dU=2or8dtl 8= std o=
CIIQMESE=ESFSINEZD)
25,000,000 *13] 25,000




2A:

M= Ak 1t

Hu: A=A B4
ol 2. MRS S SA (SHol: )
- _ olE|
SA - B C(BH) - MISAY - BAS Ofl Aot 05”55 HR=2
OMI128] =&0F =2 AFEXIEH (MTB)CHE
30,000,000 x13] 30,000
°c 5,000
Al 25,000
OHMI93| =FOI=2IIE R = LEHILIALY
3| 85,000,000 *13] 85,000
o= 5,000
Al 80,000
OMI163| =HOHZHHY M=2 &8 CHS]
45,000,000 %13] 45,000
°c 5,000
Al 40,000
OHMI253| =AC=2IIAH| M= YEHZEU
3| 40,000,000 *13] 40,000
° 5,000
Al 35,000
OHMI78| =&0=2IIE R = BHEIEA T
3| 35,000,000 %13] 35,000
c 5,000
Al 30,000
Q2025 =AO=DJ18 30 M= st OF2CH3!
65,000,000 *x13] 65,000
= 5,000
Al 60,000
OHMI58 =&0t=IIE AL &= =2 - OO0t
MY FHAATLX[YF
30,000,000 x13] 30,000
°c 5,000
Al 25,000
02025 =&0=2IIH 2 M= s72US
45,000,000 *13] 45,000
°c 5,000
Al 40,000
OHMI1B3 =&BF M= |2 ZIIUHsl
10,000,000 «13] 10,000
OHMI198 =&t SEZ2} OItEUS
15,000,000 13| 15,000
02025 =&0I=2II AL =7 AEEC ]
25,000,000 *x13] 25,000
OHI2g =&0I=IIERAL 2& AEE2|]
12,000,000 «13] 12,000
Q2025 K& AEE2I0
20,000,000 %13] 20,000
OHMIB3 =&AIEH 8= =52 HILIAUS
25,000,000/ *x13] 25,000
=“SE 02E s KId 170,000 155,000 15,000
= 10,000




2A:

M= Ak 1t

B ALZMNY K4
ol 2R, MBCH HSHAF (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 160,000
307 gl2tol & 170,000 185,000 15,000
=S 10,000
Al 160,000
04 QIZHHAMAIH 2 £ 170,000 165,000 15,000
OX252 gd&E0tck=Uz2l
170,000,000 * 14! 170,000
< 10,000
Al 160,000
=X U=IE A d=K 03 190,000 185,000 5,000
= 5,000
Al 185,000
307 @20l & 190,000 185,000 5,000
=S 5,000
Al 185,000
04 QIZHHAMAIH 2 £ 190,000 185,000 5,000
OHMIM038 =d2=J18a 8= U2
190,000,000 * 14! 190,000
< 5,000
Al 185,000
==Y 8= RAEE2U3 135,000 135,000 0
= 5,000
Al 130,000
307 el2to| & 135,000 135,000 0
= 5,000
Al 130,000
04 DIZFSHAFAI 2 X 135,000 135,000 0
02025 =HRIII A B2 RAEE0H
=) 135,000,000 * 14! 135,000
[ 5,000
Al 130,000
025 E=dEMSUFTE 29 80,000 10,000 70,000
= 30,000
Al 50,000
201 er23| 20,000 10,000 10,000
03 A= I 20,000 10,000 10,000
02025 d=dUEHSUHFRN =24
20,000,000 *14! 20,000
401 A2 HIZL R 0HbI 60,000 0 60,000
[ 30,000
Al 30,000
01 Al&HI 60,000 0 60,000
Od=daM=sU=d Ul 2018 W2 60,000




A MSAHDt
M AEXMNY 84
ciel: 2. MICH AKBA (cre:xigl)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
—ZOUEILAY dores
40,000,000 100 &~ 40,000
& 20,000
Al 20,000
—&AISOE SHMIE WXl
20,000,000 *1JH 2 20,000
= 10,000
Al 10,000
ANESR MSA 593,600 593,500 100
NEE? MSEHA X2 492,600 468,500 24,100
201 Ler2| 30,600 23,000 7,600
01 Ar2eltl 30,600 23,000 7,600
OAlE 23S Al HE 222 HHA
10,0002 18071 *43] 7,200
OAE M=sEA HE Xtz
300,000& *303] 9,000
Os8=s dslls 8% & 228 MH
600,000 240 SH=S 14,400
301 LPENZ 24,000 24,000
11 HARHIRIE S 24,000 24,000
Otz Mz A F0HA 24
1,000,000& =240 EHS 24,000
307 gI2tol 438,000 421,500 16,500
02 QIZHBAAIHE X 20,000 20,000 0
OA3 M=sls =&
20,000,000 *13] 20,000
04 CIZISHAIAIIE X 418,000 401,500 16,500
OHMI03 =&AIEI| SE=FUS
10,000,000& *13] 10,000
OHMIM92l =det SH=FU=
5,000,000& *13] 5,000
OHNI28al =& AIZH SIS S2 U
5,000,000& x12l 5,000
OHMI73] =&0oHl Metge 280E 2
CHal 5,000,000 *13] 5,000
OHMI28s] =& A& AU
6,000,000& *13] 6,000
ON243| =R AIEH S E2U3F
10,000,000& *13] 10,000
OHM283l =& AIZH 2 JH = =03
5,000,000 *13] 5,000
OHMI3s] =& AR 2T
7,000,000& *13] 7,000
Q2025 S8 7THAIZ =& AAHOIEZUE
5,000,000& x13l 5,000
ORmI22al =& AIEI| HOIESUHE
6,000,000 *13] 6,000




RARIS = algeaiy
B ALZMNY K4
St ASE? MSA (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORMI2| =&AIEI| HH=LIE TS
7,000,000 *12] 7,000
ORM228] =& AIZH HHCHE
7,000,000& *12] 7,000
ON26al =& A& Y EHAZUS
10,000,000 * 12l 10,000
OHM218l =& AIEI| EFU3E
6,000,000& 12 6,000
ORMI22 =&AIE8 Al2EH=SUE
7,000,000& *12] 7,000
OHM3al =& AEU Det2ESES
8,000,000& 12 8,000
OHMI03] =& AIZHH SZH3
5,000,000& 12 5,000
OM143] =& A& s
7,000,000& *12] 7,000
ORMI72l =& AIEH 20103l
4,000,000 *12] 4,000
OHMI7=l =&AIEH Stk EZ U
3,000,000& %12 3,000
OMieal =&AIFI| HAAZX HH0|E H
JIti =l 3,000,000& %12 3,000
ONIeal =& AIEI| HEHS OFHE
3,000,000& %12 3,000
OHMI73] =& AIEHH =23
4,000,000& *12] 4,000
OHMI43] =&AIEI| SAUS
3,500,000& %12 3,500
OHM4zl =& AIZI| OLAILE RIHTHE
3,000,000& %12 3,000
ORNI2el =&AIE)| La=20H3l
4,000,000& *12] 4,000
02025 = A& A2ZEHILIANHZ]
7,000,000& *12] 7,000
O=&Al MSLA HA
37,000,000 * 14| 37,000
ORMlI52l SHSHFU
198,000,000& 12 198,000
O2FIl =3l =l 27,500
—HILIA, =7, HH=0H
4,500,000& x3A 13,500
—Hi=2, AHOIEZ, dHSE, 57
3,500,000 x4 14,000
0! WAL XA 101,000 125,000 /24,000
307 gl2to| & 101,000 125,000 /24,000
02 QIZHEAAEE X 34,000 34,000 0
OFMeIN=U =d
34,000,000 13 34,000




2A:

B ALZMNY K4
CHRlr AISE MSAL EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
04 QIZHHAMAIH 2 & 67,000 91,000 /24,000
02025 =&Al AlIZ &0l dEMSU2
4,000,000& *12] 4,000
ORM2el dg=s=d Fojel E=Ue
4,000,0002!+13] 4,000
ORMI52l FrZoHelnt N S0l HEN=
tHal 4,000,000 *12] 4,000
OHMI3el dgs=d o =gz
4,000,000& *12] 4,000
O2025 &8 HoHel &3228 Hegd
4,000,0002!+13] 4,000
OXMM=l =&Al Z0i2! BHECE S
4,000,000& 12} 4,000
02025 =&Al Zoje!l g-2t=
3,000,000& %12 3,000
ORMI92l =&AIZH d=Z0HAAR XY
3 & Stits S8 ZHol&ial
30,000,000& *13] 30,000
O=&Al ZOHAMSHAL W=
10,000,000 * 12l 10,000
SUHSIEIIZ EXAY 2,308,234 1,950,133 368,101
Jl 1,221,506
< 98,697
Al 988,031
ARXAH0IEHE XS 756,000 497,041 258,959
Jl 529,200
=S 68,040
Al 158,760
301 EtE NS 756,000 497,041 258,959
Jl 529,200
= 68,040
Al 168,760
01 Al EE A S (2 RDEXA) 756,000 497,041 258,959
OAE A0S KA
756,000,000 *14] 756,000
Il 529,200
= 68,040
Al 168,760
FHAAEZZHO|EH KA 201,961 151,800 50, 161
Il 141,372
= 18,177
Al 42,412
301 eEetE N = 201,961 151,800 50, 161
) 141,372
== 18,177
Al 42,412




RARIS = algeaiy
M AEXMNY 84
el FASHEI) IS ELAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 A2 HSHS(RRNEERTH) 201,961 151,800 50,161
OBJUAZEAH0IZA XA
201,961,000& x 14 201,961
Jl 141,372
< 18,177
Al 42,412
LOHME S X =Xt 81X 281,556 350,188 268,632
Jl 140,778
Al 140,778
307 gl2to| & 281,55 300, 188 68,632
) 140,778
Al 140,778
02 QB AANEE R 281,556 350,188 68,632
OLPHHEH SRS HHXIAL
281,556,000 x14] 281,556
Jl 140,778
Al 140,778
LSS A =& 99,708 99,708
307 elztol & 99,708 99,708
02 2B YA E X 99,708 99,708
OLEHLHNSNEA = 99,708
— St 200,000 x9E* 1204 = 21,600
—=4l 140,000 x0E 120 & 16,120
—g&=2d 1,317,6602 «90& »23] 23,718
—d8+ 9,120,000 *14! 9,120
—u=s & 3t 350,000 x9&H 3,180
—JI2A2Ys FhE
250,000 x0E * 12042 27,000
LSS EA HLHS KE A 10,800 10,800 0
S 4,320
Al 6.480
307 elztol & 10,800 10,800 0
= 4,320
Al 6,480
02 2B YAIAE £ 10,800 10,800 0
OLPMEHSAEI MRME K2 A
10,800,000 * 14! 10,800
s 4,320
Al 6,480
OSSN A AC8s 288 1,476 1,476 0
7l 738
Al 738
307 glztol & 1,476 1,476 0
Jl 738




RARIS = algeaiy
D AT SA
el FASHEI) IS ELAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 738
02 QA AAEE X 1,476 1,476 0
OYBHEBHSNEL IESE BEE
1,476,000& x14] 1,476
Jl 738
Al 738
HEMMEN S AL B 344,124 432,512 /88,388
Il 172,062
Al 172,062
307 elzto| & 344,124 432,512 /88,388
Jl 172,062
Al 172,062
02 2B YAIHE A 344,124 432,512 A\88,388
ONENY HEHS AL BiXIA
344,124,000 14] 344,124
Il 172,062
Al 172,062
HEMMENFSANEA =& 126,559 0 126,559
307 elztol & 126,559 126,559
02 LB HAHE L 126,559 126,559
O SUYEN SN = 126,559
—uwSH| 200,000« 11E 1200 & 26,400
—=4| 140,000& x11H+ 1202 18,480
—g&= 1,317,660 x11& %23 28,989
—gd8x 15,840,000 * 14| 15,840
—lu=s & 3t 350,000+ 11 3,850
—JA2Ys Fk=
250,000« 11E =120 & 33,000
Oy dEsSATh MM XA 13,200 13,200 0
[ 5,280
Al 7,920
307 glztol & 13,200 13,200 0
= 5,280
Al 7,920
02 2B YA HE X 13,200 13,200 0
ONZXMEHSXZ=A HRME XA
13,200,000 * 14 13,200
= 5,280
Al 7,920
Oy dENsSATH 25 288 1,804 1,804 0
Jl 902
Al 902
307 lztol & 1,804 1,804 0
Jl 902




RARIS = algeaiy
B ALZMNY K4
el FASHEI) IS ELAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 902
02 QA AAEE X 1,804 1,804 0
OOZAMBYSNER SE HER
1,804,000& *14] 1,804
Jl 902
Al 902
O ME XN FAI=AL B 187,812 230,472 A\42,660
Il 93,906
Al 93,906
307 elzto| & 187,812 230,472 N42,660
Jl 93,906
Al 93,906
02 2B YAIHE A 187,812 230,472 A\42,660
OZ A HEMS N = AL BHXI AL
187,812,000 * 14! 187,812
Il 93,906
Al 93,906
SO MEN SN A =& 52,3% 0 52,3%
307 elztol & 52,3% 52,3%
02 LB HAHE L 52,3% 52,3%
OYUMALEHN SN = 52,39
—uwSH| 200,000 x6E* 12043 14,400
—&d8=4 40,0003 x6* 120 2 2,880
—a=4Hl 140,000 x6H 120 10,080
—g&=2d 1,311, 1202 «6 & »23] 16,734
— =l 350,000 64 2,100
—JA2Ys Fk=
100,000 x6E 12042 7,200
ZOHA MM SN A MRS XA 7,200 7,200 0
[ 2,880
Al 4,320
307 glztol & 7,200 7,200 0
= 2,880
Al 4,320
02 2B YA HE X 7,200 7,200 0
OZ I MEH SN = HRIME XA
7,200,000 *14] 7,200
= 2,880
Al 4,320
UX=100 MHISHEH 2E 203,640 203,640 0
Jl 142,548
Al 61,092
101 @124H| 173,812 173,812 0
Jl 121,668




RARIS = algeaiy
B ATENO R4
ool RWHSFIEIS BEAY (cre): 2ig
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 52,144
04 JIZtNZ22 XS 2+ 173,812 173,812 0
OAL2SHCIAF 21|
3,250,000 2= 1204 2 78,000
Jl 54,600
Al 23,400
OM=FAL QI21H]
2,210,000 2+ 1200 & 53,040
Jl 37,128
Al 16,912
OFg2® =& 4,992
—AdZ2S &AM
123,000 x2E 1200 = 2,952
Jl 2,066
Al 886
—HESEEIA 85,0002 x2&* 12043 2,040
) 1,428
Al 612
Oz JI22Y=
290,000 ~4H 122 13,920
Jl 9,744
Al 4,176
OEx+¢ 12,660
—AI2SACIA
125,000 x30€x2& 7,500
Il 5,250
Al 2,250
—HESEEHA 86,0003 30 x2H 5,160
Jl 3,612
Al 1,548
OX0Dt= EAHIA 0]
20,0002 *4 & »23]~8 1,280
Jl 89%6
Al 384
OXMeEelsHE ME 225 728
200,000 x4 H*43] 3,200
Il 2,240
Al 960
OdHZ Al 140,000 x4 * 122 6,720
) 4,704
Al 2,016
201 fet=3| 29,828 29,828 0
Jl 20,880
Al 8,948
01 AtR2t2lt] 25,228 25,228 0




A MSAHDt
B ALZMNY K4
el FASHEI) IS ELAY (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OJ12 AR2Y 2|
500,000& * 1204 6,000
| 4,200
Al 1,800
O=0IM=E100 ELE JI€E H&
2,680,000 43| 10,720
| 7,504
Al 3,216
ONEsdns 2588 7Y
1,250,000 & 23| 2,500
| 1,750
Al 750
OANREE(EH, EE &) 7
300,000& =123 3,600
| 2,520
Al 1,080
O2E AXZ(AEBSADI, X )
2,408,000 14 2,408
| 1,686
Al 722
2 S=29| 4,600 4,600 0
O3=2d| 4,600
-3 620,000& » 14! 620
| 434
Al 186
—Hi& HABEHZ 1,500,000 *13] 1,500
| 1,050
Al 450
—QHYANEZ 40,0003+ 12& 480
| 336
Al 144
—A&EH 2Rl ¥ B+
500,000 & *43] 2,000
| 1,400
Al 600
G ZHOHCIMEISHH 2 (JISEEXR) 20,000 50,000 /30,000
307 gI2tol ™ 20,000 50,000 A30,000
02 QIZHAAAIHE X 20,000 50,000 A30,000
OFctd s ool MSEIsHEH 29 XIR(
=&H HEXH) 20,000,000 14 20,000
MO8 AlE &5 6,897,639 1,894,455 5,003, 184
& 1,930,000
Al 4,967,639
H=SAd X 2 B 367,359 327,375 39,984
201 L2 | 26,019 22,835 3,184




A MSAHDt
M AEXMNY 84
Rl MSIIE AIE &S EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
01 ArR2eltl 7,184 4,000 3,184
OO0t 23T+ Zt2lEHd MZ
7802 x2,8000H 2,184
OMSAE gEFH 522 5 WX
200,000& *103 2,000
O=d& AZXMOIE A0 HE 312 =2 S
100,000 *10H*32] 3,000
02 E324H| 18,835 18,835 0
ONMSAdY SHARHS L HYAD ot
2 25 50087000 & 435
O3HEAIE I3 S 3323
100,000 71 2+ 128 8,400
OMEHFAIE J1D| #2l & B
400,000 *102] 4,000
OZZNSAE 218 A2
500,000& =123 6,000
202 04d| 2,340 2,340
01 =LHO4 L] 2,340 2,340
O=HIXEAY 498 L XA &
60,0002 x3F 63| 1,080
OZ23MSAIE dXl&d EtAlZ ¢XIord
60,0002 x3H 73| 1,260
203 YRF=&IH| 1,000 1,000
03 A FRIHRFAIY| 1,000 1,000
OZ22HMSAIE X g2 =&
1,000,000 14! 1,000
401 A& HIZLS0HY| 338,000 301,200 36,800
01 Al&HI 338,000 300,000 38,000
OsUM=AIE 82X £ E= 300,000
—SUHSAIE &4
5,000,0002 *400H & 200,000
—sUIXMsAE 2+ & 018 S
2,000,0002 *2501 & 50,000
~ZZASAE 24
10,000,000 x5JH 2~ 50,000
OSZH HOIESE MNEBSAMS('4E S
HAFHUES Arg)
15,000,000 170 2 15,000
Ounzs greszeldd HIE=SE EdIZ
AN('24E SEXFHNES AMY)
23,000,000 100 2 23,000
S3MSAE =4 & - 525,000 0 525,000
= 130,000
Al 395,000
401 A& HILS0HY| 525,000 0 525,000
= 130,000
Al 395,000




2A:

M= Ak 1t

HE: ALXMQ S4
Rl MSIIE AIE &S EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o1 Alt 525,000 0 525,000
OSHS NOIESH XL &X BA
30,000,000 #5H 160,000
OYX2XT HOIESH EETAHAIS 228+
o EEAR) 350,000, 00024174 2 350,000
< 105,000
Al 245,000
OB HOIEET Al& HEZA
25,000,002 174 2 25,000
= 25,000
EEEEEYN 2,500,000 0 2,500,000
= 750,000
Al 1,750,000
T EEST] 2,500,000 0 2,500,000
= 750,000
Al 1,750,000
01 Alt 2,500,000 0 2,500,000
O MABTE T (AIS 22847 HEA
&) 2.500,000,0002%14] 2,500,000
< 750,000
Al 1,750,000
A EEEEEL 5,280 20,280 15,000
201 Yer2ei| 5,280 5,280 0
2 ZZ2H 5,280 5,280 0
oL R 40,0002+ 122 5,280
ZOIERY HIDIAIE SXIZA 3,500,000 0 3,500,000
= 1,050,000
Al 2,450,000
401 A&BIL=ThY| 3,500,000 0 3,500,000
< 1,050,000
Al 2,450,000
o1 Alt 3,500,000 0 3,500,000
OBOIETE HIIZAIE SX BAHAIE 22
CH MEALR) 700,000, 0002452 3,500,000
= 1,050,000
Al 2,450,000
dY2IFHI(MSAS) 104,123 105,712 A1,589
EEET 51,624 57,048 5,424
oIz 2| 51,624 57,048 5,424
101 Q124 51,624 57,048 5,424
TIEES 51,624 57,048 £5,424
OAIZtel2R4Y
11,9501+ 128453041 2H 128 51,624
Jl= | 52,499 48,664 3,83




2A:

M= Ak 1t

M HAESAAY|(HSLS D)
&l D122 (EEEE))
- _ olE|
SA - B C(BH) - MISAY - BAS Ofl Aot 05”55 HR=2
Jl=2&b| 52,499 48,664 3,835
201 LBr2AH| 27,659 20,464 7,195
01 AFR22t2|H] 27,659 20,464 7,195
OM=i=E gF F80 e S|
9,000& * 13 »7Alx 128 9,828
ORASY AIRES 22|
50,000 * 13« 12& 7,800
OLUR=Z 2AI2X 22 (M)
22,0002 x5t A% 12& 1,320
O Z=& A2 22(B5)
20,0002 x28t A x 128 480
O=2A EH ¢
200,000 x4l x23| 1,600
O=2AD| Ed & AR2E WA
965,500 x23| 1,931
O&LD| Ax= 60,0002 128 720
Os22 a8 2=HN
1,000 *2,0000H 2,000
OARA M2 o TN RS2
15,0002 115+ 128 1,980
202 04d| 21,840 25,200 3,360
01 2L Y| 21,840 25,200 A3,360
O2 122 UEE M|
140,000& 132 x 128 21,840
203 L2 =&H| 3,000 3,000
M BEASHEAI2F=KIH| 3,000 3,000
ORANSYGER=XH|
250,000 128 3,000




